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Sec 1 H Notes 6.5 :
Linear Regressions Unit®

W S
Yorld’s Tallest Man — Robert Pershing Wadlow_( 1918-1940)

of a septic blister

Wad i :
low died at 1:30 a.m. on July 15, 1940, in a hotel in Manistee, Michigan, as a result ied i
[e was buried in

on his right ankle caused by a brace, which had been poorly fitted only a week earlier. I

Oakwood Cemetery, Alton, in i - sk
’ , In a coffi ing ; de and 76 cm
(30 in) deep. offin measuring 3.28 m (10 ft 9 in) long, 81 cm (32 in) wi
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Tallest Man Data |
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Age in years Height in inches

5 64

8 72

9 74.5

10 77

11 79

12 82.5

13 85.75

14 89

15 92

16 94.5 y -
17 96.5

18 99.5

19 101.5

20 102.75

21 104.25

22.4 107.1

Robert next to his father
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Secl1 H Linear Regressions Unit 6

a) Make a scatter plot of the data on the graphing calculator.

Pollow Skys wn Relerone Shat!

b) Together, we will calculate the linear regression line.

j: Q-g"].x + _9_._:_5_5—

¢) What is the slope? What does the slope tell you about the situation?
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d) What is the y-intercept? What does the y-intercept tell you about the

situation? _ »h/mj:( o Ph{d,m(’m/l H how -{Wf//

ol: e was won e WWV?[@“VO)WO’
¥ WE Wiy Wads upresidt, Iat i€ o s
e) Use your linear essmn line to estimate how tall Robert would have
been at age(::f) Atears?
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Use your linear regression line to estimate how old. Robert would have
been when he reached a height of(15 feet tal
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